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L.0. To answer arithmetic calculations
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Compiete the arithmetic g’ue,sti,on.s -_using the
most g,%g@n:a,te method.

1 |4531+ 100 ‘ 10 | 613 x 4 ‘
2 |583-453 1 11 | 2841+3 1
3 | _ _+41=74 1 |12 |0.06- 0.06 1
. i 13 | ¢ _ 32
4 |44- =27 = 6 - 32 '
s |14 [588 + 42 2
6 |Z+c v 115 ] 170 = 34 g
: 16|41
7 |89+ 100 ; =2 :
8 |42 i 17 | 5.7 x 5.6 .
0.7 + 0.7 ' 118 323,672-121,882 ’
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26,146+95,435
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508 x 13
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52.71 x 100
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20% x 580
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415+ 10
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(10 +26) + (10-7)
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584,392 -100
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2 of _is 45

27

50% of 248

35

__+28=25

36

35=5x__




Answers!

1 |4631 10 (2452 19 121581 28 6604

2 [130 11 1947 20 |14.992 29 5271

3 |33 12 o 21 (33,435 30 5

4 117 13 (3 1/30 22 |36/10 18/5 33/5|31 425

5 |15,000 14 |14 23 (116 32 584,292

6 |2/5 15 |5 24 112 33 19/15 1 4/15
7 |0.089 16 |2/30 115 25 (3/50 34 75

8 |16 17 131.92 26 19/20 35 700

9 |[1.4 18 1201790 27 (124 36 7




